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CE Brea

Time of One Pulse Train with Blanking Interval = 72.6 mS (72,600 uS)
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CE Brea

 Time of Small Pulse = 400 uS

 Number of Small Pulses on first part 
 of Pulse Train = 8
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 Time of One Large Pulse = 840 uS
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CE Brea

2nd Part of Pulse

28 Large Pulses
  4 Small Pulses
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CE Brea

Last Part of Pulse (to the right of the solid vertical line)

 6 Small Pulses
 2 Large Pulses

 Total Small Pulses = 8+4+6 = 18 Small Pulses
 Total Large Pulses = 0+28+2 = 30 Large Pulses

 Total Time = (18 * 400 uS) + (30* 840 uS) = 32,400 uS

 Total Duty Cycle = 32,400 uS / 72,600 uS = 44.63%
 




